
CHEMISTRY

BOOKS - A2Z CHEMISTRY (HINGLISH)

CLASSIFICATION OF ELEMENTS AND

PERIODICITY OF PROPERTIES

Periodic Table And Classification Of Element

1. Which of the following statement is wrong

for the d-block elements?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nwsvENUeLK8M


A. General electronic configuration for

them is 

B. They generally exhibit variable valency .

C. Last electron enters in  subshell

in them.

D. They are placed from third period to

sixth period in modern periodic table.

Answer: D

Watch Video Solution

(n − 1)d1−10ns0−2

(n − 1)d

https://dl.doubtnut.com/l/_nwsvENUeLK8M
https://dl.doubtnut.com/l/_MNnDbCO64117


2. The atomic number of an element variable

valency.

A. Number of electrons

B. Number of protons

C. Number of neutrons

D. Number of isotopes

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MNnDbCO64117
https://dl.doubtnut.com/l/_iJsPDRZFBkpP


3. The lanthanide contraction refers to:

A. radius of the series.

B. valence electrons of the series.

C. the density of the series.

D. electronegativity of the series.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iJsPDRZFBkpP


4. Which of the following is the atomic

number of a metal?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

32

34

36

38

https://dl.doubtnut.com/l/_FZyecNMvN9s3
https://dl.doubtnut.com/l/_k7TtwMt599bK


5. The group in the modern periodic table, in

which all the elements do not have same

number of electrons in their valence shell is :

A. 

B. 

C. 

D. zero

Answer: D

Watch Video Solution

13th

11th

9th

https://dl.doubtnut.com/l/_k7TtwMt599bK
https://dl.doubtnut.com/l/_5LT4lAZXBa2b


6. The element with atomic number

 are all

A. noble gases

B. halogens

C. heavy metals

D. light mentals

Answer: B

Watch Video Solution

9, 17, 35, 53, 85

https://dl.doubtnut.com/l/_5LT4lAZXBa2b


7. There are 10 neutrons in the nucleus of the

element  . It belong to

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

_ (Z)M 19

f − block

s − block

d − block

https://dl.doubtnut.com/l/_rNhDAPUHybnz
https://dl.doubtnut.com/l/_u9IPxOC8bukI


8. Mercury is the only metal which is liquid at

. This is due to

A. Very high ionisation energy and weak

metallic bond

B. Low ionisation energy

C. High atomic weight

D. High vapour pressure

Answer: A

Watch Video Solution

0∘C

https://dl.doubtnut.com/l/_u9IPxOC8bukI
https://dl.doubtnut.com/l/_ezXR3mDDS4m1


9. Which set has the same number of unpaired

electrons in their ground state?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl− , Fe3+ , Cr3+

N + ,Mg2+ , Al

Na, P , Cl

N, P , V

https://dl.doubtnut.com/l/_ezXR3mDDS4m1
https://dl.doubtnut.com/l/_bkQSUuBh64Gu


10. The electronic configuration of an element

 is . What is the atomic

number of the element which is just below the

element  in the periodic table?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X 1s2, 2s2, 2p6, 3s2, 3p3

X

34

49

33

31

https://dl.doubtnut.com/l/_bkQSUuBh64Gu


11. An element has electronic configuration

. Predict their group and

block.

A. period= ,block=p,group=15

B. period= ,block= ,group=

C. period= ,block= ,group=

D. period= ,block= ,group=

Answer: A

Watch Video Solution

1s2, 2p6, 3s2, 3p3

3rd

5th s 1

3rd p 12

4th d 12

https://dl.doubtnut.com/l/_bkQSUuBh64Gu
https://dl.doubtnut.com/l/_opHDTBGFh9cB


12. which of the following set of elements

cannot be a triad?

A. 

B. B,Al,Ga

C. Be,Mg,Ca

D. Cl,Br,I

Answer: B

Watch Video Solution

Li, Na, k

https://dl.doubtnut.com/l/_opHDTBGFh9cB
https://dl.doubtnut.com/l/_bk33h8YThP6M


13. Group comprising all metals is

A. IIIA

B. IVA

C. VIIA

D. IIA

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0OZfyl3gZSVX


14. In Mendeleev's periodic table some pair of

elements do not follow increasing order of

atomic weight known as anomalous pair. The

correct example of anomalous pair is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl, Ar

Th, pa

Te, In

Co, Nb

https://dl.doubtnut.com/l/_mhaCvJAKJAay


Watch Video Solution

15. The element with atomic number 

belongs to ..... Block in the periodic table

A. P

B. S

C. F

D. D

Answer: A

Watch Video Solution

36

https://dl.doubtnut.com/l/_mhaCvJAKJAay
https://dl.doubtnut.com/l/_LEo48i0F99Zm


16. Electronic configuration of  is

, it belongs to

A. s-block

B. p-block

C. d-block

D. f-block

Answer: B

Watch Video Solution

M 3+

[Ar]3d104s2

https://dl.doubtnut.com/l/_LEo48i0F99Zm
https://dl.doubtnut.com/l/_pRXNG0UY3JoE


17. Under normal condition which of the

following electronic configuration is able to

form dipositive ion

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

[Ar]4s1

[Ne]2s23p6

[Ne]3s2

https://dl.doubtnut.com/l/_zymSTip4wXEG


18. Elements of atomic number  is placed in

A. IV group

B. IV period

C. VI group

D. IIIgroup

Answer: A

Watch Video Solution

6

https://dl.doubtnut.com/l/_PApykwcPcY6g


19. An element with atomic number 20 will be

placed in which period of the periodic table

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

3

2

1

https://dl.doubtnut.com/l/_E2xLTZU9OYKU
https://dl.doubtnut.com/l/_ZSTLt1Bx8W22


20. In the periodic table, the element with

atomic number 16 will be placed in the group

A. Sixth

B. fourth

C. Fifth

D. third

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZSTLt1Bx8W22


21. An element  has an atomic mass 19 and

atomic number 9. Its ion is represented by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

M

M +

M −

M 2+

M 2−

https://dl.doubtnut.com/l/_U7msxdM5a4JA
https://dl.doubtnut.com/l/_8bLjjgMbUK24


22. According to periodic law of elements, the

variation in properties of elements is related

to their:

A. Atomic number

B. Atomic mass

C. Nuclear mass

D. Neutron-proton ratio

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8bLjjgMbUK24
https://dl.doubtnut.com/l/_9JlAX3zR9FPJ


23. The d-block elements consists mostly of

A. Monovalent metals

B. All non-metals

C. many mentals with catalytic properties

D. Elements which generally from

stoichiometric mental oxide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9JlAX3zR9FPJ
https://dl.doubtnut.com/l/_jfQzFIDQQQRM


24.  is the electronic

configuration of the metal

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p63s2

Na

Mg

Fe

Al

https://dl.doubtnut.com/l/_jfQzFIDQQQRM


25. Which one of the following belongs to

representative group of elements in the

periodic table?

A. Aluminium

B. Argon

C. chromium

D. Lanthanum

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H84R7INeRPj7


26. If the atomic number of an elements is 33,

it will be place in the periodic tabe in the

A. first group

B. fifth group

C. third group

D. seventh group

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wdSwClNTMYcc
https://dl.doubtnut.com/l/_g0gYM84rgzRY


27. the elements on the right side of the

periodic table are

A. Metals

B. metalloids

C. non-metals

D. transition elements

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_g0gYM84rgzRY


28. Electronic configuration of chalcogens in

their outermost orbit is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

s2p3

s2p5

s2p4

p6

https://dl.doubtnut.com/l/_dMdDZezklZH5
https://dl.doubtnut.com/l/_30VBHqbEveaN


29. Dobereiner traids is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na,K, Rb

Mg, S, As

P , S, As

Cl, Br, I

https://dl.doubtnut.com/l/_30VBHqbEveaN


30. In the modern periodic table, elements are

arranged in

A. increasing mass

B. increasing volume

C. increasing atomic number

D. Alphabetically

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ISietrgMompo
https://dl.doubtnut.com/l/_W8H0okcgPYt2


31. In the periodic table, going down in

fluorine group

A. Ionic radius will increase

B. Electronegativity will increase

C. Reactivity will increase

D. Ionisation potential will increase

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_W8H0okcgPYt2


32. Who developed the long form of periodic

table?

A. Lother meyer

B. Niel Bohr

C. Mendeleev

D. Moseley

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CtbdhFDl3HN7
https://dl.doubtnut.com/l/_DkFwiBKah42n


33. The element or elements whose position is

anomalous the periodic table is

A. Hydrogen

B. 

C. Inert gases

D. Halogens

Answer: A

Watch Video Solution

Fe, Co and N

https://dl.doubtnut.com/l/_DkFwiBKah42n


34. The most predominantly ionic compounds

will obtained from the combination of

elements belonging to

A. and  groups

B.  and  groups

C.  and  groups

D.  and  groups

Answer: A

Watch Video Solution

1 7

2 6

3 5

0 7

https://dl.doubtnut.com/l/_ponUaiXlUyzv


35. the tenth elements in the periodic table

resembles with are

A. First period

B. second period

C. fourth group

D. Ninth group

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NTlfClpgn1Dx
https://dl.doubtnut.com/l/_TmYHGsH38Ejo


36. Chloride of an element  gives neutral

solution in watt . In the periodic table, the

elements  belong to

A. First group

B. Third group

C. Fifth groups

D. First transition series

Answer: A

Watch Video Solution

A

A

https://dl.doubtnut.com/l/_TmYHGsH38Ejo
https://dl.doubtnut.com/l/_yGSpfmIhIV8c


37. Lanthanoid contraction is caused due to:

A. The imperfect shielding on outer

electrons by 4f -electrons from the

nuclear charge

B. The aapreciable shielding on outer

electrons by 4f-electrons from the

nuclear charge

C. The aapreciable shielding on outer

electrons by 5d-electrons from the

nuclear charge

https://dl.doubtnut.com/l/_yGSpfmIhIV8c


D. The same effective nuclear charge from

Ce to Lu

Answer: A

Watch Video Solution

38. Hydrogen by donating one electron forms

 . In this property , it resembles with

A. Transitional metals

B. Alkaline earth metals

H +

https://dl.doubtnut.com/l/_yGSpfmIhIV8c
https://dl.doubtnut.com/l/_6kTMQ1L4zWfo


C. Alkali metals

D. Halogens

Answer: C

Watch Video Solution

39. The element having the electronic

configuration  is

A. A transition elements

B. A representative element

1s2, 2s22p6, 3s23p1

https://dl.doubtnut.com/l/_6kTMQ1L4zWfo
https://dl.doubtnut.com/l/_C8AFNTdHwZUk


C. an inert gas

D. An inner transition elements

Answer: B

Watch Video Solution

40. Which one of the following sets of ions

represents the collection of isoelectronic

species?

A. K + , Cl− ,Mg2+ , Sc3+

https://dl.doubtnut.com/l/_C8AFNTdHwZUk
https://dl.doubtnut.com/l/_iuTIo5eaUNPd


B. 

C. 

D. 

Answer: C

Watch Video Solution

K + , Ca2+ , Sc3+ , Cl−

Na+ , Ca2+ , Sc3+ , F

Na+ ,Mg2+ , Al3+ , Cl

41. The electronic configuration of halogen is

A. 

B. 

ns2np6

ns2, np3

https://dl.doubtnut.com/l/_iuTIo5eaUNPd
https://dl.doubtnut.com/l/_I5AbQcmUBCnS


C. 

D. 

Answer: A

Watch Video Solution

ns2np5

ns2

42. In the ground state of cobalt atom

, there are ..... Unpaired electrons and

thus the atom is ....

A. ,paramagenetic

(Z = 27)

3

https://dl.doubtnut.com/l/_I5AbQcmUBCnS
https://dl.doubtnut.com/l/_JyA7snQyInMh


B. , paramagnetic

C.  diamagnetic

D.  diamagnetic

Answer: B

Watch Video Solution

2

3

2

43. Which of the following statement is not

correct regarding hydrogen atom?

https://dl.doubtnut.com/l/_JyA7snQyInMh
https://dl.doubtnut.com/l/_HZDUPgaB0czB


A. It resembles halogens in some

properties

B. it resembles alkali mentals in some

properties

C. it can be placed in 7th group of periodic

table

D. it cannot be placed in first group of

periodic table

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HZDUPgaB0czB


44. Elements  and  with their respective

electronic configurations  and 

in their outermost shell are

A. Both coinage mentals

B. Both non-mentals

C. A is non-mental and B is coinage mental

D. A is a coinage mental and B is non-

mental

A B

3d104s1 4d105s1

https://dl.doubtnut.com/l/_HZDUPgaB0czB
https://dl.doubtnut.com/l/_u8fKO2FXPr5L


Atomic Radius Screening Effect And Penetration

Effect

Answer: A

Watch Video Solution

1. The ionic radii of  and  are

respectively given by:

A. 

B. 

N 3− , O2− F −

1.36, 1.40, 1.70

1.36, 1.71, 1.40

https://dl.doubtnut.com/l/_u8fKO2FXPr5L
https://dl.doubtnut.com/l/_pyDjqFGE02rI


C. 

D. 

Answer: B

Watch Video Solution

1.71, 1.40, 1.36

1.71, 1.36, 1.40

2. The ionic conductance of the following

cations in a given concentration is in the order

A. 

B. 

Li+ < Na+ > k+ < Rb+

Li+ > Na+ > K + > Rb+

https://dl.doubtnut.com/l/_pyDjqFGE02rI
https://dl.doubtnut.com/l/_kLRqcgMSFHuH


C. 

D. 

Answer: A

Watch Video Solution

Li+ < Na+ > K + > Rb+

Li = Na+ < K + < Rb+

3. The correct order of the size is

A. 

B. 

C. 

Ca2+ > K + > Ar > Cl > S2−

K + > Ca2+ > Cl− > Ar > S2−

S2− > Cl− > Ar > K + > Ca2+

https://dl.doubtnut.com/l/_kLRqcgMSFHuH
https://dl.doubtnut.com/l/_LrmTL2lebx03


D. 

Answer: A

Watch Video Solution

S2− > Ar > Cl− > Ca2+ > K +

4. The correct order of increasing covalent

character is :

A. 

B. 

C. 

LiCl < NaCl < BeCl2

BeCl2 < NaCl < LiCl

NaCl < LiCl < BeCl

https://dl.doubtnut.com/l/_LrmTL2lebx03
https://dl.doubtnut.com/l/_BfSEtegpVAFl


D. 

Answer: C

Watch Video Solution

BeCl2 < LiCl < NaCl

5. Which of the following elements have

maximum atomic volume?

A. 

B. 

C. 

K

Ca

Fe

https://dl.doubtnut.com/l/_BfSEtegpVAFl
https://dl.doubtnut.com/l/_d7x6hAEMbt8A


D. 

Answer: A

Watch Video Solution

Br

6. Ionic radii are

A. Directly proportional to effective nuclear

charge

B. Directly proportional to square of

effective nuclear charge

https://dl.doubtnut.com/l/_d7x6hAEMbt8A
https://dl.doubtnut.com/l/_xZcubKtb4Gc6


C. Inversely proportional to effective

nuclear charge

D. Inversely proportional to square of

effective nuclear charge.

Answer: C

Watch Video Solution

7. Which set represents isoelectronic species?

A. Be, Al3+ , Cl−1

https://dl.doubtnut.com/l/_xZcubKtb4Gc6
https://dl.doubtnut.com/l/_br3yruwyICKL


B. 

C. 

D. 

Answer: D

Watch Video Solution

Ca2+ , Cs+ , Br

Na+ , Ca2+ ,Mg2+

N 3− , F − , Na+

8. Which of the following alkali metal ions has

the lowest ionic mobility in aqueous

solutions?

https://dl.doubtnut.com/l/_br3yruwyICKL
https://dl.doubtnut.com/l/_NeJxEEWSpszI


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Rb+

Cs+

Li+

Na+

9. In the ions  and , the increasing

order of size is:

P 3− , S2− Cl

https://dl.doubtnut.com/l/_NeJxEEWSpszI
https://dl.doubtnut.com/l/_BPzaMrGWoNc5


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl− , S2− , P 3−

P 3− , S2− , Cl−

S2− , Cl− , P 3−

S2− , Cl3− , Cl−

10. Which one of the following is expected to

have largest size?

https://dl.doubtnut.com/l/_BPzaMrGWoNc5
https://dl.doubtnut.com/l/_esJ9IVNv9NWN


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F −

O−2

Al+3

N −3

11. Which of the following order of atomic

ionic radius is not correct?

/

https://dl.doubtnut.com/l/_esJ9IVNv9NWN
https://dl.doubtnut.com/l/_amMnVPzHs6DH


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I − > I > I +

Mg+2 > Na+ > F −

P +5 < P +3

Li > Be > B

12. Which of the following has the largest ionic

radius?

https://dl.doubtnut.com/l/_amMnVPzHs6DH
https://dl.doubtnut.com/l/_2yp6sUo6z01k


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na+

Ni+

Cs+

Mg+2

13. Which one of the following is the smallest

in size?

https://dl.doubtnut.com/l/_2yp6sUo6z01k
https://dl.doubtnut.com/l/_ovQctI4uraWV


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na+

O2−

N 3−

F −

14. Chloride ion and potassium ion are

isoelectronic. Then

https://dl.doubtnut.com/l/_ovQctI4uraWV
https://dl.doubtnut.com/l/_rJimk3jxwu82


A. Potassium ion is relatively bigger

B. Depends on the other cation and anion

C. Their size are same

D. Chloride ion is bigger than potassium

ion

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rJimk3jxwu82


15. Which of the following atoms should have

the largest size?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cs

Fr

Kr

Xe

https://dl.doubtnut.com/l/_gtZMtAPYT048
https://dl.doubtnut.com/l/_6BIX20cWFryA


16. When a neutral atom is converted into

cation, there is

A. Decrease in the atomic number

B. An increase in the atomic number

C. A decrease in size

D. An increase in size

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6BIX20cWFryA


17. Which of the alkali metals is the smallest is

size?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Rb

K

Na

Li

https://dl.doubtnut.com/l/_ZIGCuRzpRCiZ
https://dl.doubtnut.com/l/_T6HcJJttRdlZ


18. In which of the following pairs, the

difference between the convalent radii of the

two metals is maximum.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K, Ca

Mn, Fe

Co, Ni

Cr,Mn

https://dl.doubtnut.com/l/_T6HcJJttRdlZ
https://dl.doubtnut.com/l/_f3SuaWExwxeP


19. A reduction in atomic size the increases in

atomic number is a charactersitic of elements

of:

A. f-block

B. Radioactive series

C. High atomic mass

D. d-block

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_f3SuaWExwxeP


20. The atomic radius of elements of which of

the following series would be nearly the same

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaKRbCs

LiBeBC

FeCoNiCu

FClBrI

https://dl.doubtnut.com/l/_CvnETUMVOK1D
https://dl.doubtnut.com/l/_18so7bP03OOA


21. Which of the following statement is

correct?

A.  ion is larger in size than X atom

B.  ion is larger in size than X atom

C.  ion is larger in size than  ion

D.  ion are equal in size

Answer: A

Watch Video Solution

X −

X +

X + X −

X + and X −

https://dl.doubtnut.com/l/_18so7bP03OOA


22. Which of the following has the highest

ionic radius?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F −

B3+

O2−

Li+

https://dl.doubtnut.com/l/_QjsbsfrMgbNQ
https://dl.doubtnut.com/l/_YTPVF5cpDox2


23. Which is helpful in the formation of ionic

bond

A. Only small cation

B. Only small anion

C. Small cation and small anion both

D. Low positive charge, large cation and

small anion

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_YTPVF5cpDox2
https://dl.doubtnut.com/l/_hzBPfYTXMqY6


24. which of the following ions has the

smallest radius?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Be2+

Li+

O2−

F −

https://dl.doubtnut.com/l/_hzBPfYTXMqY6
https://dl.doubtnut.com/l/_Rw3f9TSYxf59


25. The correct order of radii is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N < Be < B

F − < O2 < N 3−

Na < Li < K

Fe3+ < Fe2+ < Fe4+

26. Which is the correct order of atomic radii?

https://dl.doubtnut.com/l/_Rw3f9TSYxf59
https://dl.doubtnut.com/l/_t8VlklL9Qu8V


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

Mg < Al < Na < K

Al < Mg < Na < K

K < Na < Mg < Al

27. Which of ions are isoelectronic?

A. Be2+ ,Mg2+ , Al3+

https://dl.doubtnut.com/l/_t8VlklL9Qu8V
https://dl.doubtnut.com/l/_OcltmpxaoWJf


B. 

C. 

D. 

Answer: C

Watch Video Solution

Al3+ , Ca2+ , Sr2+

Ca2+ ,K + , S2−

K + , Na+ , Li+

28. The order of magnitude of ionic radii of

ions  and  is

A. 

Na+ ,Mh2+ , Al3+ Si4+

Na+ < Mg2+ < Al3+ < Si4+

https://dl.doubtnut.com/l/_OcltmpxaoWJf
https://dl.doubtnut.com/l/_GokCTFjmSBpT


B. 

C. 

D. 

Answer: D

Watch Video Solution

Mg2+ > Na+ > Al3+ > Si4+

Al3+ > Na+ > Si4+ > Mg2+

Na+ > Mg2+ > Al3+ > Si4+

29. which of the following has largest radius ?

A. 

B. 

Mg2+

Na+

https://dl.doubtnut.com/l/_GokCTFjmSBpT
https://dl.doubtnut.com/l/_i2VEXE2DREm8


C. 

D. 

Answer: C

Watch Video Solution

O2−

F −

30. Which of the following does not

represents the correct order of the property

indicated ?

https://dl.doubtnut.com/l/_i2VEXE2DREm8
https://dl.doubtnut.com/l/_YXsz9DO6X0Yl


A.  ionic

radii

B.  Mn Density

C.  ionic

radii

D.  Basic

nature

Answer: A

Watch Video Solution

Sc3+ > Cr3+ > Fe3+ > Mn3+

Sc < Ti < Cr <

Mn2+ > Ni2+ < Co2+ < Fe2+

Feo < Cao < Mno < CuO

https://dl.doubtnut.com/l/_YXsz9DO6X0Yl
https://dl.doubtnut.com/l/_AXTuy5q4HLih


31. Which of the following statement

concerning lanthanides elements is false.

A. Lanthanides are separated from one

another by ion

B. Ionic radii of trivalent lanthanides

steadily increase with increase in the

atomic number

C. All lanthanides are highly dense metals

D. More characteristic oxidation state of

lanthanide elements is +3

https://dl.doubtnut.com/l/_AXTuy5q4HLih


Answer: B

Watch Video Solution

32. Which of the following ions has the

smallest size?

A. 

B. 

C. 

D. 

Na+

Mg2+

Al3+

P 5

https://dl.doubtnut.com/l/_AXTuy5q4HLih
https://dl.doubtnut.com/l/_htY4NvDBVuy8


Answer: D

Watch Video Solution

33. The correct order of increasing radii of the

elements  is

A. 

B. 

C. 

D. 

Si, Al, Na and P

Si, Al, P , Na

P , Si, Al, Na

Al, Si, P , Na

Al, P , Si, Na

https://dl.doubtnut.com/l/_htY4NvDBVuy8
https://dl.doubtnut.com/l/_GGYnOoyiqzuP


Answer: B

Watch Video Solution

34. which one of the following species

possesses maximum size?

A. 

B. 

C. 

D. 

Na+

F −

Ne

O2−

https://dl.doubtnut.com/l/_GGYnOoyiqzuP
https://dl.doubtnut.com/l/_5fl2fkx6Lzlk


Answer: D

Watch Video Solution

35. which of the following ions is the smallest

in size?

A. 

B. 

C. 

D. 

Cl−

Na+

Mg2+

S2−

https://dl.doubtnut.com/l/_5fl2fkx6Lzlk
https://dl.doubtnut.com/l/_2Fa2Y47P1HMV


Answer: C

Watch Video Solution

36. The size of the following species increases

in the order

A. 

B. 

C. 

D. 

Mg2+ < Na+ < F − < Al

F − < Al < Na+ > Mg2+

Al < Mg < F − < Na+

Na+ < Al < F − < Se

https://dl.doubtnut.com/l/_2Fa2Y47P1HMV
https://dl.doubtnut.com/l/_ZcfgsGQ9Oqfb


Answer: A

Watch Video Solution

37. Which of the following is correct order of

atomic radii?

A. 

B. 

C. 

D. 

O < S < C < Se

O < Se < S < C

O < C < S < Se

C < O < S < Se

https://dl.doubtnut.com/l/_ZcfgsGQ9Oqfb
https://dl.doubtnut.com/l/_ZhGC4FDG5crR


Answer: C

Watch Video Solution

38. The ratio between radii of  ion and 

atom is

A. 

B. 

C. 

D. 

He+ H

1

1

2

3

2

2

https://dl.doubtnut.com/l/_ZhGC4FDG5crR
https://dl.doubtnut.com/l/_n282m51CVm5E


Answer: A

Watch Video Solution

39. Which of the following is the largest ion?

A. 

B. 

C. 

D. 

Answer: C

CI −

Na+

Al3+

Si4+

https://dl.doubtnut.com/l/_n282m51CVm5E
https://dl.doubtnut.com/l/_9ChouaPZvAL8


Watch Video Solution

40. Which one is the correct order of the size

of the iodine species?

A. 

B. 

C. 

D. 

Answer: A

I − > I > I +

I > I − > I +

I + > I − > I

I > I + > I −

https://dl.doubtnut.com/l/_9ChouaPZvAL8
https://dl.doubtnut.com/l/_Nyx0FM7rcqXI


Watch Video Solution

41. The size of the following species increases

in the order

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al < Mg < F − < Na

F −Al < Na+ > Mg2+

Mg2+ < Na+ < F − < Al

Na+Al < F − < Mg2+

https://dl.doubtnut.com/l/_Nyx0FM7rcqXI
https://dl.doubtnut.com/l/_VjAogf8LJCXW


42. Which of the following has the smallest

size?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mg2+

Na+

Al3+

Si4+

https://dl.doubtnut.com/l/_VjAogf8LJCXW
https://dl.doubtnut.com/l/_7K4tFBNL7Bus


43. The trivalent ion having size in lanthanide

series is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti

Zr

Hf

La

https://dl.doubtnut.com/l/_YKjPJkipJ3Po
https://dl.doubtnut.com/l/_7GchbufvPppQ


44. The correct order of atomic radii is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Y b3+ < Pm3+ < Ce3+ < La3+

Ce3+ < Y b3 < Pm3+ < La3+

Y b3+ < Pm3+ < La3+ < Ce3+

Pm3+ < La3+ < Ce3+ < Y b3+

45. Correct energy value order is

https://dl.doubtnut.com/l/_7GchbufvPppQ
https://dl.doubtnut.com/l/_02IrsfWHFA5d


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

nsnpnd(n − 1)f

nsnp(n − 1)d(n − 2)f

nsnp(n − 1)d(n − 1)f

ns(n − 1)dn(n − 1)f

46. The correct order of atomic radii is

A. Ce > Sm > Y b > Lu

https://dl.doubtnut.com/l/_02IrsfWHFA5d
https://dl.doubtnut.com/l/_azzvbnflpFxF


B. 

C. 

D. 

Answer: A

Watch Video Solution

Sm > Ce > Lu > Y b

Lu > Y b > Sm > Ce

Sm > Y b > Ce > Lu

47. The smallest among the following ions is

A. 

B. 

Na+

Mg+2

https://dl.doubtnut.com/l/_azzvbnflpFxF
https://dl.doubtnut.com/l/_hkrKmaDw7xgF


C. 

D. 

Answer: D

Watch Video Solution

Ba2+

Al3+

48. The radius of  (at no 57) is .

What may be the radius of (at no.71)?

A. 

B. 

La+ 1.06Å

Lu3+

1.06Å

0.85Å

https://dl.doubtnut.com/l/_hkrKmaDw7xgF
https://dl.doubtnut.com/l/_DVzCL0xRsSRO


C. 

D. 

Answer: B

Watch Video Solution

1.60Å

1.40Å

49. Which of the following gaseous atoms has

the highest value of ionisation enthalpy?

A. 

B. 

P

Si

https://dl.doubtnut.com/l/_DVzCL0xRsSRO
https://dl.doubtnut.com/l/_inyaJ7vyEWst


C. 

D. 

Answer: A

Watch Video Solution

Mg

Al

50. The correct order of ionisation energy for

comparing corbon, nitrogen and oxygen

atoms is

A. C > N > O

https://dl.doubtnut.com/l/_inyaJ7vyEWst
https://dl.doubtnut.com/l/_J2i6A587bAC2


B. 

C. 

D. 

Answer: C

Watch Video Solution

C > N < O

C < N > O

C < N < O

51. The second ionisation enthalpies of

elements are always higher than their first

ionisation enthalpies because:

https://dl.doubtnut.com/l/_J2i6A587bAC2
https://dl.doubtnut.com/l/_JDoMbWQK10Pg


A. cation formed always have stable half-

filled or completely filled valence shell

electron configuration.

B. It is easier to remove electron process.

C. ionisation is an endothermic process.

D. the cation is smaller than its parent

atom.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JDoMbWQK10Pg
https://dl.doubtnut.com/l/_q7rPknAZ8S1I


52. The first ionisation potential is maximum

for

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

B

N

O

Be

https://dl.doubtnut.com/l/_q7rPknAZ8S1I


Ionisation Energy

1. For , which of the following

orders is correct for ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C, N, O and F

IP

F > O > C > N

O > F > N > C

F > N > O > C

N > F > O > C

https://dl.doubtnut.com/l/_tFKH9SBfW4Fz


2. The correct order of reactivity of halogens is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F > CI > Br > I

F < CI > Br > I

F < CI < Br < I

F < CI < Br > I

https://dl.doubtnut.com/l/_tFKH9SBfW4Fz
https://dl.doubtnut.com/l/_rBy3gYlR715j
https://dl.doubtnut.com/l/_nAtN0CsgYu8H


3. The first ionisation potential in electron

volts of nitrogen and oxygen atoms are

respectively given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

14.6, 13.6

13.6, 14.6

13.6, 13.6

14.6, 14.6

https://dl.doubtnut.com/l/_nAtN0CsgYu8H
https://dl.doubtnut.com/l/_7P5PrX7MyPOZ


4. The atomic number of vanadium ,

chromium , manganese  and iron 

 are respectively . Which out

of these may be expected to have the jump in

second ionisation enthalpy?

A. 

B. 

C. 

D. 

Answer: D

(V )

(Cr) (Mn)

(Fe) 23, 24, 25, 26

Mn

Fe

V

Cr

https://dl.doubtnut.com/l/_7P5PrX7MyPOZ


Watch Video Solution

5. Which of the following has the highest first

ionisation energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li

Be

B

C

https://dl.doubtnut.com/l/_7P5PrX7MyPOZ
https://dl.doubtnut.com/l/_Dq5dMyCifP3y


6. The first ionisation potential of 

and  are in the order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na,Mg, Al

Si

Na < Mg > Al < Si

Na > Mg > Al > Si

Na < Mg < Al > Si

Na > Mg > Al < Si

https://dl.doubtnut.com/l/_Dq5dMyCifP3y
https://dl.doubtnut.com/l/_w0VymIJ1cyzq


7. Which among the following elements have

the lowest value of ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IE1

Pb

Sn

Si

C

https://dl.doubtnut.com/l/_w0VymIJ1cyzq
https://dl.doubtnut.com/l/_6EON3DuGPqsv


8. Which of the following elements will have

the lowest first ionisation energy?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mg

Rb

Li

Ca

https://dl.doubtnut.com/l/_d1NdOb6yrrzJ
https://dl.doubtnut.com/l/_4mFhnIyaGHJh


9. Fluorine is the best oxidising agent because

it has

A. Higest electron affinity

B. Highest 

C. Highest 

D. Lowest electorn affinity

Answer: B

Watch Video Solution

E0
red

E0
oxid

https://dl.doubtnut.com/l/_4mFhnIyaGHJh


10. The ionisation energy of nitrogen is more

than that of oxygen because

A. Of the extra stability size of nitrogen is

more than that of oxygen because

B. Of the smaller size of nitrogen

C. The former contains less number of

electrons

D. The former about ionisation potential

Answer: A

https://dl.doubtnut.com/l/_0GT1MEFqw4L1


Watch Video Solution

11. Which of correct about ionisation

potential?

A. It is independent of atomic radii

B. It increases with increase in atomic radii

C. it remains constant with increase in

atomic radii

D. It decrease with increase in atomic radii

Answer: D

https://dl.doubtnut.com/l/_0GT1MEFqw4L1
https://dl.doubtnut.com/l/_xFgbkFaNshfu


Watch Video Solution

12. The formation of the oxide ion 

requires first an exothermic and then an

endothermic step as shown below: 

,  


,  


This is because:

A.  ions has comparatively larger size

than oxygen atom

B. Oxygen has high electrons affinity

O2−
g

Og + e− → O−
g ΔH = − 142kJmol−1

O(g) + e → O2−
g ΔH = 844kJmol−1

O−

https://dl.doubtnut.com/l/_xFgbkFaNshfu
https://dl.doubtnut.com/l/_39JpfDEYWg1i


C.  ion will tend to resist the addition

of another electron

D. Oxygen is more electronegative

Answer: C

Watch Video Solution

O−

13.  and  are similar in their properties

due to

A. Same  ratio

Mg Li

e/m

https://dl.doubtnut.com/l/_39JpfDEYWg1i
https://dl.doubtnut.com/l/_E56sAnJqR9MH


B. same electron affinity

C. Same group

D. Same ionic potential

Answer: D

Watch Video Solution

14. Maximum I.E. Is for

A. 

B. 

Be+

Li+

https://dl.doubtnut.com/l/_E56sAnJqR9MH
https://dl.doubtnut.com/l/_ae3VbzoqZPGY


C. 

D. 

Answer: B

Watch Video Solution

B+

Ne+

15. Order of first ionisation potentials of

elements  is

A. 

B. 

Li, Be, B, Na

Li > Be > B > Na

Be > B > Li > Na

https://dl.doubtnut.com/l/_ae3VbzoqZPGY
https://dl.doubtnut.com/l/_9A9tR3KrOgsy


C. 

D. 

Answer: B

Watch Video Solution

Na > Li > B > Be

Be > Li > B > Na

16. A sudden jump- between the values of

second and third ionisation energies of an

atom would be associated with the electronic

configuration.

https://dl.doubtnut.com/l/_9A9tR3KrOgsy
https://dl.doubtnut.com/l/_DJbN7lDSfkR6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s2, 2s2, 2p6

1s2, 2s2, 2p6, 3s2, 3p1

1s2, 2s2, 2p6, 3s2, 3p2

1s2, 2s2, 2p6, 3s2

17. A neutral atom will have the lowest

ionisation potential when its electronic

configuration is

https://dl.doubtnut.com/l/_DJbN7lDSfkR6
https://dl.doubtnut.com/l/_qhWhDWIeAB9S


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s1

1s2, 2s2p6

1s2, 2s2p2

1s2, 2s2p6, 3s1

18. Which of the following is incorrect?

A.  of  of IE1 Li < IE1 Be

https://dl.doubtnut.com/l/_qhWhDWIeAB9S
https://dl.doubtnut.com/l/_41kZdopgDqpb


B.  of  of 

C.  of  of 

D.  of  of 

Answer: B

Watch Video Solution

IE1 Be < IE1 B

IE1 Li < IE1 Na

IE1 He < IE1 Ne

19. The process requiring the absorption of

energy is

A. F → F −

https://dl.doubtnut.com/l/_41kZdopgDqpb
https://dl.doubtnut.com/l/_RzQRcCCxqGHu


B. 

C. 

D. 

Answer: C

Watch Video Solution

C → Cl−

O → O2−

H → H

20. Which of the following sequence regarding

the first ionisation potential of coinage metal

is correct?

https://dl.doubtnut.com/l/_RzQRcCCxqGHu
https://dl.doubtnut.com/l/_JkTG2ksjlnyH


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu > Ag > Au

Cu < Ag < Au

Cu > Ag < Au

Ag > Cu < Au

21. The element with highest value of

ionisation potential is

https://dl.doubtnut.com/l/_JkTG2ksjlnyH
https://dl.doubtnut.com/l/_i9FZadaHUqdw


A. Potassium

B. Helium

C. Hydrogen

D. Xenon

Answer: B

Watch Video Solution

22. In halogens, with increase of atomic

number where habit is found

https://dl.doubtnut.com/l/_i9FZadaHUqdw
https://dl.doubtnut.com/l/_fWIHUW247okw


A. Ionisation potential decrease

B. Ionic radii potential decreases

C. Habit to loose electron decreases

D. In  ( = metal  = halogen),

covalent properties decrease.

Answer: A

Watch Video Solution

MX2 M X

https://dl.doubtnut.com/l/_fWIHUW247okw


23. Which of the following transitions involves

maximum amount of energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M − (g) → M(g)

M(g) → M + (g)

M + (g) → M 2+ (g)

M 2+ (g) → M 3+ (g)

https://dl.doubtnut.com/l/_wxPvoifd3NcY
https://dl.doubtnut.com/l/_iUNpr2Uk7vcE


24.  and 

. The energy required to

pull out the two electrons are  and 

respectively. The correct relationship between

two energy would be

A. 

B. 

C. 

D. 

Answer: C

A → A+ + e, E1

A+ → A2+ + e, E2

E1 E2

E1 > E2

E1 = E2

E1 < E2

E1 ≠ E2

https://dl.doubtnut.com/l/_iUNpr2Uk7vcE


Watch Video Solution

25. Which of the following relation is correct

with respect first (I) and second (II) ionisation

of sodium and magnesium?

A. 

B. 

C. 

D. 

Answer: A

Img = IINa

INa > IMg

IIMg > IINa

IINa > IIMg

https://dl.doubtnut.com/l/_iUNpr2Uk7vcE
https://dl.doubtnut.com/l/_epEM4WjuUzcV


Watch Video Solution

26. How many ionisation energies can carbon

have?

A. 1

B. 2

C. 6

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_epEM4WjuUzcV
https://dl.doubtnut.com/l/_9xavIZrtCJt6


27. The correct sequence of elements in

decreasing order first ionisation energy is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na > Mg > Al

Mg > Na > Al

Al > Mg > Na

Mg > Al > Na

https://dl.doubtnut.com/l/_9xavIZrtCJt6
https://dl.doubtnut.com/l/_wpoeOX2fgWoG


28. The first ionisation potentials (eV) of 

and  respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Be

B

9.32eV , 8.29eV

9.32eV , 9.32eV

8.29eV , 8.29eV

8.29eV , 9.32eV

https://dl.doubtnut.com/l/_wpoeOX2fgWoG
https://dl.doubtnut.com/l/_cQmMfnPvQFBo


29. the highest ionisation energy stands for

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

He

C

N

Cl

https://dl.doubtnut.com/l/_stN0zSGsekc4


30. which of the following has the least

ionisation potential?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Li

Cl

Cs

H

https://dl.doubtnut.com/l/_1h3iaIIYFBtr
https://dl.doubtnut.com/l/_3Wi9BrwZ1A8D


31. The first ionisation potential will be

maximum for

A. Lithium

B. Hydrogen

C. Uranium

D. Iron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3Wi9BrwZ1A8D


32. The second ionisation potential is

A. Less than the first ionisation potential

B. Equal to the first ionisation potential

C. Greater than the first ionsation potential

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_48193d3A7bJy


33. Which one of the following elements has

the highest ionisation energy?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Ne]3s23p1

[Ne]3s23p2

[Ne]3s23p3

[Ar]3d104s24p2

https://dl.doubtnut.com/l/_cEdCJcmYjZ0m
https://dl.doubtnut.com/l/_MtSwYhLJe2Bz


34. What will be the order of first ionisation

energy?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na > Li > K

K > Li > Na

Li > Na > K

Li > K > Na

https://dl.doubtnut.com/l/_MtSwYhLJe2Bz


35. In which of the following process highest

energy is absorbed?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cu → Cu+

Br → Br−

I → I −

Li → Li+

https://dl.doubtnut.com/l/_q0iPwuQHXDak
https://dl.doubtnut.com/l/_LdiWJE5fQAzc


36. The increasing order of the first ionisation

enthalpies of the elements  and 

(lowest first) is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B, P , S F

F < S < P < B

P < S < B < F

B < P < S < F

B < S < P < F

https://dl.doubtnut.com/l/_LdiWJE5fQAzc
https://dl.doubtnut.com/l/_DEPpjKMFIwbk


37. Which of the following explanation is best

for not placing hydrogen in either the group

of alkali metals or halogens?

A. The ionisation energy of hydrogen is too

high for group of alkali metals, but too

low of halogen group

B. Hydrogen can form compounds with all

other elements.

C. Hydrogen is much lighter element than

the alkali metals or the halongens

https://dl.doubtnut.com/l/_DEPpjKMFIwbk


D. None of the above

Answer: A

Watch Video Solution

38. Which of the following represents the

correct order of increasing first ionisation

enthalpy for  and ?

A. 

B. 

Ca, Ba, Se, S Ar

Ca < S < Ba < Se < Ar

S < Se < Ca < Ba < Ar

https://dl.doubtnut.com/l/_DEPpjKMFIwbk
https://dl.doubtnut.com/l/_OwdLBw6Nr1OD


C. 

D. 

Answer: C

Watch Video Solution

Ba < Ca < Se < S < Ar

Ca < Ba < S < Se < Ar

39. The first ionisation potential of  is 

. The value of electrons gain enthalpy of 

 will be

A. 

Na

5.1eV

Na+

−2.55eV

https://dl.doubtnut.com/l/_OwdLBw6Nr1OD
https://dl.doubtnut.com/l/_hmxWc72FtGtP


B. 

C. 

D. 

Answer: B

Watch Video Solution

−5.1eV

−10.2eV

+2.55eV

40. The correct sequence which shows

decreasing order of the ionic radii of the

element is

https://dl.doubtnut.com/l/_hmxWc72FtGtP
https://dl.doubtnut.com/l/_nhfVvGtqpbsw


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al3+ > Mg2+ > Na+ > F > O2−

Na+ > Mg2+ > Al3+ > O2− > F −

Na+ > F − > Mg2+ > O2− > Al3+

O2− > F − > Na+ > Mg2+ > Al3+

41. The set representing the correct order of

ionic radius is

https://dl.doubtnut.com/l/_nhfVvGtqpbsw
https://dl.doubtnut.com/l/_OX401QeLpQxw


Electron Gain Enthalpy

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li+ > Be2+ > Na+ > Mg2+

Na+ > Li+ > Mg2+ > Be2+

Li2+ > Na+ > Mg2+ > Be2+

Mg2+ > Be2+ > Li+ > Na+

https://dl.doubtnut.com/l/_OX401QeLpQxw


1. Ionic compounds are formed most easily

with

A. Low electron affinity, high ionisation

energy

B. High electron affinity, low ionisation

energy

C. Low electron affinity, low ionisation

energy

https://dl.doubtnut.com/l/_ipqwFqlHrd6r


D. High electron affinity, High ionisation

energy

Answer: B

Watch Video Solution

2. For magnitude of electron gain enthalpy of

chalcogens and halogens, which of the

following option is correct?

A. Br > F

https://dl.doubtnut.com/l/_ipqwFqlHrd6r
https://dl.doubtnut.com/l/_teIbEYlGK714


B. 

C. 

D. 

Answer: C

Watch Video Solution

S > F

O < Cl

S < Se

3. Electron affinity depends on

A. Atomic size

B. Nuclear charge

https://dl.doubtnut.com/l/_teIbEYlGK714
https://dl.doubtnut.com/l/_hic5ybLAfLx5


C. Atomic number

D. Atomic size and nuclear charge both

Answer: D

Watch Video Solution

4. In comparison with alkali metals, the

electron affinity of halogens is

A. very high

B. very low

https://dl.doubtnut.com/l/_hic5ybLAfLx5
https://dl.doubtnut.com/l/_2Xn96MNmQwp5


C. nearly same

D. exactly same

Answer: A

Watch Video Solution

5. The correct electron affinity order of

 is:

A. 

B. 

N, O, S, Cl

O < N < Cl < S

Cl > O > S > N

https://dl.doubtnut.com/l/_2Xn96MNmQwp5
https://dl.doubtnut.com/l/_ZTfLdgnJlIJ7


C. 

D. 

Answer: C

Watch Video Solution

N < O < S < Cl

N = Cl > O = S

6. Increasing order of electron affinity is

A. 

B. 

C. 

N < O < Cl < Al

O < N < Al < Cl

Al < N < O < Cl

https://dl.doubtnut.com/l/_ZTfLdgnJlIJ7
https://dl.doubtnut.com/l/_IMVp93K15y0k


D. 

Answer: C

Watch Video Solution

Cl < N < O < Al

7. The correct order of electron affinity is

A. 

B. 

C. 

D. 

F > Cl > Br

F > Cl > Br

F < Cl < Br

F < Cl < Br

https://dl.doubtnut.com/l/_IMVp93K15y0k
https://dl.doubtnut.com/l/_qr4KX80fTBK1


Answer: C

Watch Video Solution

8. The electron affinity of

A. Carbon is greater than oxygen

B. Sulphur is less than oxygen

C. Iondine is greater than bromine

D. Borimine is less than chlorine

Answer: D

https://dl.doubtnut.com/l/_qr4KX80fTBK1
https://dl.doubtnut.com/l/_Bsp9eTaHUktl


Watch Video Solution

9. the correct order of electron affinty is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

O > C > N > B

B > N > C > O

O > C > B > N

O > B > C > N

https://dl.doubtnut.com/l/_Bsp9eTaHUktl
https://dl.doubtnut.com/l/_9IGqmIbv3OxM


10. In which of the following species energy is

released when electron is added?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −

O

O−

Na

https://dl.doubtnut.com/l/_9IGqmIbv3OxM
https://dl.doubtnut.com/l/_TjjIp2ztArht
https://dl.doubtnut.com/l/_fB50FCOs3N6z


11. The amount of energy which is released due

to addition of extra electron to the outermost

orbit of gaseous atom is called

A. Electron capacity

B. Electron affinity

C. Ionisation potential

D. Electronegativity

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fB50FCOs3N6z


12. Which one has maximum electron affinity?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N

Be

B

Cl

https://dl.doubtnut.com/l/_oUZE5QBJcKwU


13. Which is the correct order of electron

affinity ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li > Mg > Na

Na < Li < Mg

Li < Na > Mg

Li > Na > Mg

https://dl.doubtnut.com/l/_fovY2Oac0NEY
https://dl.doubtnut.com/l/_vAKSV8rfD5WO


14. Which of the following species has the

highest electron affinity?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F −

O

O−

Na+

https://dl.doubtnut.com/l/_vAKSV8rfD5WO


15. The electron affinity for the inert gases is

A. Zero

B. High

C. Negative

D. Positive

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PTTfhVrtaARz


16. Which of the following element has the

highest value of electron affinity?

A. Carbon

B. Oxygen

C. Fluorine

D. Neon

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EJwMlwkH00OS
https://dl.doubtnut.com/l/_aRx17eb2YM8e


17. The electron affinities of halogens are

. The higher value for  as compared to that

of  is due to

A. Weaker electron-electron repulsion in 

B. Higher atomic radius of 

C. Smaller electronegativity of 

D. More vacant -subshell in 

Answer: A

Watch Video Solution

F = 322, Cl = 349, Be = 324, I = 295kJmol−1

Cl

F

Cl

F

F

P Cl

https://dl.doubtnut.com/l/_aRx17eb2YM8e


18. Nitrogen has lower electron affinity than its

preceding element carbon because

A. Electron affinity decreases along a

period

B. Electron affinity generally increases

along a period

C. Nitrogen atom has half-filled p-orbital

D. Nitrogen is a p-block element

Answer: C

https://dl.doubtnut.com/l/_aRx17eb2YM8e
https://dl.doubtnut.com/l/_geBpSVBJTjxq


Watch Video Solution

19. Which one of the following is an incorrect

statement?

A. The ionisation potential of nitrogen is

greater that of oxygen

B. The electron affinity of fluorine is greater

than that of chlorine.

C. The ionisation potential of beryllium is

greater than that of boron

https://dl.doubtnut.com/l/_geBpSVBJTjxq
https://dl.doubtnut.com/l/_XV5OtfLmrrG2


D. The electronegativity of fluorine is

greater than that of chlorine.

Answer: B

Watch Video Solution

20. Which one of the following arrangements

represents the correct order of electron gain

enthalpy of the given atomic species?

A. Cl < F < S < O

https://dl.doubtnut.com/l/_XV5OtfLmrrG2
https://dl.doubtnut.com/l/_dmG2HlVYu0KS


B. 

C. 

D. 

Answer: C

Watch Video Solution

S < O < Cl < F

O < S < F < Cl

F < Cl < O < S

21. Electron affinity is the lowest for

A. Nitrogen

B. carbon

https://dl.doubtnut.com/l/_dmG2HlVYu0KS
https://dl.doubtnut.com/l/_2xsY3ZSkB6U5


C. Oxygen

D. sulphur

Answer: B

Watch Video Solution

22. Electron affinity is the

A. Energy absorbed when an electron is

added to an isolated atom in the

gaseous state.

https://dl.doubtnut.com/l/_2xsY3ZSkB6U5
https://dl.doubtnut.com/l/_vjKkOMit9gWL


B. Energy released when an electron is

added to an isolated atom in the

gaseous state

C. Energy required to take out an electron

from an isolated gaseous atom

D. Power of an atom to attract an electron

to itself.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vjKkOMit9gWL
https://dl.doubtnut.com/l/_ldUduBseHCUk


23. Arrange  in ascending order

of electron affinity?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S, O and Se

Se < S < O

O < Se < S

S < O < Se

S < Se < O

https://dl.doubtnut.com/l/_ldUduBseHCUk
https://dl.doubtnut.com/l/_D05R1jIPM1jv


24. Which one of the elements has the

maximum electron affinity?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F

Cl

Br

I

https://dl.doubtnut.com/l/_D05R1jIPM1jv


25. The electorn affinity values for the

halogens shown the following trend

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F < Cl > Br > I

F < Cl < Br < I

F > Cl > Br > I

F < Cl > Br < I

https://dl.doubtnut.com/l/_33WGSaPqeJ0m
https://dl.doubtnut.com/l/_fagr5A4SZxiN


26. Which among the following factors is the

most important in making fluorine oxidizing

halongen?

A. Hydration enthalpy

B. Ionisation enthalpy

C. Electrons affinity

D. Bond dissociation energy

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fagr5A4SZxiN
https://dl.doubtnut.com/l/_0PJ2zxhky2J1


27. Which element has maximum electron

affinity ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na

S

Mg

Al

https://dl.doubtnut.com/l/_0PJ2zxhky2J1


28. Highest electron-affinity is associated with

the configuration

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2s2, 2p0

2s2, 2p2

2s2, 2p3

2s2, 2p1

https://dl.doubtnut.com/l/_GTch9nL8mgRf
https://dl.doubtnut.com/l/_FvtHLdgWSF20


29. Which of the following pairs show reverse

properties on moving along a period from left

to right and from top to down in a group?

A. Nuclear charge and electron affinity

B. Ionisation energy and electron affinity

C. Atomic radius and electron affinity

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FvtHLdgWSF20
https://dl.doubtnut.com/l/_aKZXGGqGpNRw


30. Which of the following has the least

electron affinity in ?

A. Oxygen

B. carbon

C. Nitrogen

D. Boron

Answer: C

Watch Video Solution

kJmol−1

https://dl.doubtnut.com/l/_aKZXGGqGpNRw


31. Which of the following properties show

gradual decrease with increase in atomic

number across a period in the periodic table?

A. Electron affinity

B. Ionisation potential

C. Electronegativity

D. Size of atom

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yNmDmjsWB0rn


32. Fluorine has lower electron affinity than

chlorine because of

A. Smaller radius of fluorine, high density

B. Smaller radius of chlorine, high density

C. Bigger radius of fluorine, less density

D. Smaller radius of chlorine, less density

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_q57goISCaDJq
https://dl.doubtnut.com/l/_CLmHdBKtKZit


33. For electron affinity of halongens which of

the following is correct

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br > F

F > Cl

Br < Cl

F > I

https://dl.doubtnut.com/l/_CLmHdBKtKZit


34. the correct order of electron gain enthalpy

with negative sign of  ,

having atomic number 

respectively is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F , Cl, Br and I

9, 17, 35 and 53

I > Br > Cl > F

F > Cl > Br > I

Cl > F > Br > I

Br > Cl > I > F

https://dl.doubtnut.com/l/_LI7rfTGRD4Nw


Electronegativity And Nature Of Oxides

Watch Video Solution

1. If the ionisation potential is , electron

affinity is  and electronegative is , which

of the following relation is correct?

A. 

B. 

C. 

D. All of these

IP

EA X

2X − EA − IP = 0

2EA − X − IP = 0

2IP − X − EA = 0

https://dl.doubtnut.com/l/_LI7rfTGRD4Nw
https://dl.doubtnut.com/l/_HCa4dQ5osWz7


Answer: A

Watch Video Solution

2. Among  and  the

correct order of acid strength is

A. 

B. 

C. 

D. 

Al2O, SiO2, P2O3 So2

Al2O3 < SiO2 < SO2 < P2O3

SiO2 < SO2 < Al2O3 < P2O3

SO2 < P2O3 < SiO2 < Al2O3

Al2O3 < SiO2 < P2O3 < SO2

https://dl.doubtnut.com/l/_HCa4dQ5osWz7
https://dl.doubtnut.com/l/_dAMALfOPtX4R


Answer: D

Watch Video Solution

3. The potarising ability of which one of the

following is the highest

A. Small highly +ve ion

B. Large +ve ion

C. Small highly -ve ion

D. Large -ve ion

https://dl.doubtnut.com/l/_dAMALfOPtX4R
https://dl.doubtnut.com/l/_bCzI3XFlI0I1


Answer: A

Watch Video Solution

4. When we move from left to right in a period

electropositive character

A. Increases

B. Decrease

C. No change

D. First increase then decreases

https://dl.doubtnut.com/l/_bCzI3XFlI0I1
https://dl.doubtnut.com/l/_8YXMOmeuiHIL


Answer: B

Watch Video Solution

5. The charge size rato of a cation determines

its polarzing power. Which one of the

following sequence represents the increasing

order of the polarzing power of the catonic

species, 

A. 

B. 

/

K + , Ca2+ ,Mg2+ , Be2+ ?

Mg2+ < Be2+ < K + < Ca2+

Be2+ < K + < Ca2+ < Mg2+

https://dl.doubtnut.com/l/_8YXMOmeuiHIL
https://dl.doubtnut.com/l/_jXr4bJkVbjcy


C. 

D. 

Answer: C

Watch Video Solution

K + < Ca2+ < Mg2+ < Be2+

Ca2+ < Mg2+ < Be2+ < K +

6. Which of the following has no unit?

A. Electro negativity

B. Electron affinity

C. Ionisation energy

https://dl.doubtnut.com/l/_jXr4bJkVbjcy
https://dl.doubtnut.com/l/_h72Ap2A08vKL


D. Excitation potential

Answer: A

Watch Video Solution

7. Which is not the correct order of

electronegativity?

A. 

B. 

C. 

Cl > S > P > Si

Si > Al > Mg > Na

F > Cl > Br > I

https://dl.doubtnut.com/l/_h72Ap2A08vKL
https://dl.doubtnut.com/l/_AJfunjjGEGjw


D. None if these

Answer: D

Watch Video Solution

8. Which one of the following has the highest

electronegativity?

A. 

B. 

C. 

Br

Cl

P

https://dl.doubtnut.com/l/_AJfunjjGEGjw
https://dl.doubtnut.com/l/_bdcjeUE1uOyD


D. 

Answer: B

Watch Video Solution

Si

9. Which of the following oxide is amphoteric?

A. 

B. 

C. 

D. 

GeO2

SnO2

CO2

SiO2

https://dl.doubtnut.com/l/_bdcjeUE1uOyD
https://dl.doubtnut.com/l/_vyIWZyWBovxm


Answer: B

Watch Video Solution

10. In the following, the element with the

highest electropositivity is

A. Copper

B. Caesium

C. Barium

D. Chromium

https://dl.doubtnut.com/l/_vyIWZyWBovxm
https://dl.doubtnut.com/l/_mcBhIoobpbPM


Answer: B

Watch Video Solution

11. Pauling 's electronegativity scale is based

upon experimental values of

A. Atomic radii

B. Bond energies

C. Electronegativities

D. Electron affinity

https://dl.doubtnut.com/l/_mcBhIoobpbPM
https://dl.doubtnut.com/l/_hNSNMOn7ZRCZ


Answer: B

Watch Video Solution

12. In  and  the electronegativity

A. Decrease from carbon to fluorine

B. Increases from carbon to fluorine

C. Increases from carbon to oxgen and

then decreases

C, N, O F

https://dl.doubtnut.com/l/_hNSNMOn7ZRCZ
https://dl.doubtnut.com/l/_SGntY9Nz1P7v


D. Decreases from carbon to oxygen and

then increases

Answer: B

Watch Video Solution

13. Wiht increasing atomic number in a certain

period

A. the chemical reacity decreases

https://dl.doubtnut.com/l/_SGntY9Nz1P7v
https://dl.doubtnut.com/l/_WGZCAIedHN16


B. The chemical reactivity character

increase

C. the electropositive character increases

D. the electronegative character increase

Answer: D

Watch Video Solution

14. An element of atomic mass  has ,

as the electronic configuration. One of the

40 2, 8, 8, 2

https://dl.doubtnut.com/l/_WGZCAIedHN16
https://dl.doubtnut.com/l/_zRx96sTPfQ9M


following statement regarding this elements

is not correct?

A. It forms a basic oxide

B. It belongs to IIA group

C. It belongs to IVA period

D. It forms an acidic oxide

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_zRx96sTPfQ9M


15. Which of the following properties displays

progressive increase with the reise in atomic

number across a period in the periodic table?

A. Electronegativity

B. Electron affinity

C. Ionisation potential

D. Size of the atom

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_k1EMZKJImhhK


16. Diagonal relationship is shown by

A. Elements of second period

B. elements of second period

C. Both (a) and (b)

D. Elements of first period

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6ZYL52umOBH8


17. The solubilities of carbonates decreases

down the magnesium group due to a decrease

in

A. Lattice energies of cations

B. Hydration energies cations

C. Inter-ionic attraction

D. Entropy of solution formation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8mac1C0J4fhL


18. Which of the following denegative anion is

quite common?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2−

Se2−

Te2−

S2−

https://dl.doubtnut.com/l/_ZqYW4OMo6zJY
https://dl.doubtnut.com/l/_uaXSQEO1Q1C4


19. Which one of the following represents the

electronic configuration of the most

electropositive element?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[He]2s1

[Xe]6s1

[He]2s2

[Xe]6s2

https://dl.doubtnut.com/l/_uaXSQEO1Q1C4
https://dl.doubtnut.com/l/_4Qzj1XzStqUP


20. Which one of the following combination

represent a metallic element?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2, 8, 7

2, 8, 2

2, 8, 4

2, 8, 8

https://dl.doubtnut.com/l/_4Qzj1XzStqUP


21. Beryllium and aluminimum exhibit many

properties which are similar . But, the two

elements differ in

A. Forming covalent halides

B. Forming polymeric hydrides

C. Exhibiting maximum covalency in

compounds

D. Exhibiting amphoteric nature in their

oxides

https://dl.doubtnut.com/l/_khNyHLXoB6bm


Answer: C

Watch Video Solution

22.  and  are similar in their properties

due to

A. Same ionic potential

B. same electron affinity

C. Same group

D. Same  ratio

Mg Li

e/m

https://dl.doubtnut.com/l/_khNyHLXoB6bm
https://dl.doubtnut.com/l/_3sBCac0BwCnd


Answer: A

Watch Video Solution

23. Which of the following set has the

strongest tendency to form anions?

A.  and 

B.  and 

C.  and 

D. , and 

Ga, In Te

Na,Mg Al

N, O F

V , Cr Mn

https://dl.doubtnut.com/l/_3sBCac0BwCnd
https://dl.doubtnut.com/l/_qa2zBDkE2CRi


Answer: C

Watch Video Solution

24.  electrons are present in the

outermost orbit  and  respectively. The

chemical formula of its compound will be

A. 

B. 

C. 

D. 

3 and 6

A B

A3B2

A2B3

A2B

AB

https://dl.doubtnut.com/l/_qa2zBDkE2CRi
https://dl.doubtnut.com/l/_TUZuXDVbi021


Answer: B

Watch Video Solution

25. Keeping in view the peroidic law and the

periodic table suggest which of the following

elements should have the maximum

electronegative character

A. 

B. 

C. 

Bi

As

P

https://dl.doubtnut.com/l/_TUZuXDVbi021
https://dl.doubtnut.com/l/_OFdjcR1zeISp


D. 

Answer: C

Watch Video Solution

Sb

26. Increasing order of acid strength of

halogen acid is

A. 

B. 

C. 

HF < HCl < HBr < HI

HCl < HBr < HI < HF

HF < HI < HBr < HCl

https://dl.doubtnut.com/l/_OFdjcR1zeISp
https://dl.doubtnut.com/l/_p8BGoakWHgwf


D. None of these

Answer: A

Watch Video Solution

27. Which of the following is the most

electropositivite element?

A. aluminium

B. phosphorus

C. Magnesium

https://dl.doubtnut.com/l/_p8BGoakWHgwf
https://dl.doubtnut.com/l/_0mpIX89J80QI


D. sulphur

Answer: C

Watch Video Solution

28. The basis of keeping the elements in the

group of periodic table is

A. Ionisation potential

B. Electronegativity

C. Electron affinity

https://dl.doubtnut.com/l/_0mpIX89J80QI
https://dl.doubtnut.com/l/_kQui71zgxrcY


D. Number of electrons in the valence shell

Answer: D

Watch Video Solution

29. Which of the following sequence correctly

represents the decreasing acidic nature of

oxides?

A. 

B. 

Li2O > BeO > B2O3 > CO2 > N2O3

N2O3 > CO2 > B2O3 > BeO > Li2O

https://dl.doubtnut.com/l/_kQui71zgxrcY
https://dl.doubtnut.com/l/_JquQmiDaCwYD


C. 

D. 

Answer: B

Watch Video Solution

CO2 > N2O3 > B2O3 > BeO > Li2O

B2O3 > CO2 > N2O3 > Li2O > BeO

30. which of the following gas does not have

an octet or eight electrons in the outer shell?

A. 

B. 

Ne

Ar

https://dl.doubtnut.com/l/_JquQmiDaCwYD
https://dl.doubtnut.com/l/_aeNA6VI4DwOw


C. 

D. 

Answer: D

Watch Video Solution

Rn

He

31. Oxidising action increases in halogen in the

following order

A. 

B. 

Cl < Br < I < F

Cl < I < Br < F

https://dl.doubtnut.com/l/_aeNA6VI4DwOw
https://dl.doubtnut.com/l/_IS1RIFLYLdlA


C. 

D. 

Answer: D

Watch Video Solution

I < F < CI < Br

I < Br < Cl < F

32. the maximum valency of an element with

atomic number  is

A. 

B. 

7

2

5

https://dl.doubtnut.com/l/_IS1RIFLYLdlA
https://dl.doubtnut.com/l/_qEuCg61Txgoq


C. 

D. 

Answer: B

Watch Video Solution

4

3

33. which one of the following oxides is

neutral?

A. 

B. 

SiO2

SnO2

https://dl.doubtnut.com/l/_qEuCg61Txgoq
https://dl.doubtnut.com/l/_OHWOEQolpfl1


C. 

D. 

Answer: D

Watch Video Solution

ZnO

CO

34. which of the following is the correct order

of gradually decreasing basic nature of the

oxides?

A. Al2O3,MgO, Cl2O7, SO3

https://dl.doubtnut.com/l/_OHWOEQolpfl1
https://dl.doubtnut.com/l/_Zl1uLm1EZRol


B. 

C. 

D. 

Answer: B

Watch Video Solution

MgO, Al2O3, SO3, Cl2O7

Cl2O7, SO3, Al2O3,MgO

SO3, Cl2O7,MgO, Al2O3

35. In which of the following arrangements ,

the order is not correct according to the

property indicated against it:

https://dl.doubtnut.com/l/_Zl1uLm1EZRol
https://dl.doubtnut.com/l/_cVmvD36bHN0V


A. Increasing size:

B. Increasing  : 

C. Increasing  : 

D. Increasing metallic radius:

Answer: B

Watch Video Solution

Al3+ < Mg2+ < Na+ < F −

IE1 B < C < N < O

EA1 I < Br < F < Cl

Li < Na < K < Rb

https://dl.doubtnut.com/l/_cVmvD36bHN0V


36. The strongest reducing agent is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2

Cl−

Br−

I −

https://dl.doubtnut.com/l/_RkAfvVSrzXSr


37. The order in which the following oxides are

arranged according to decreasing basic nature

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2O,MgO, Al2O3, CuO

MgO, Al2O3, CuO, Na2O

Al2O3,MgO, CuO, Na2O

CuO, Na2O,MgO, Al2O3

https://dl.doubtnut.com/l/_RbjycRcIhFNT


38. Acidity of pentoxides in  group

A. Decreases

B. Increases

C. Remains same

D. None

Answer: A

Watch Video Solution

VA

https://dl.doubtnut.com/l/_iKUcXjHurrLf


39. Which of the following statement is correct

with respect to the property of elements with

an increase in atomic number in the carbon

family (group 14)?

A. Atomic size decrease

B. Stabilty of  oxidation state increases

C. Metallic character decreases

D. Ionisation energy increases

Answer: B

Watch Video Solution

+2

https://dl.doubtnut.com/l/_qMMo767JLISf


Watch Video Solution

40. The ionic mobility of alkali metal ions in

aqueous solution is maximum for:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na+

K +

Rb+

Li+

https://dl.doubtnut.com/l/_qMMo767JLISf
https://dl.doubtnut.com/l/_hQHbht0sXLFR


41. The following statements regarding the

periodic trends of chemical reactivity of the

alkali metals and the halogens are given.

Which of these statement gives the correct

picture:

A. In alkali mentals , the reactivity increas in

atomic number down the group

B. The reactivity decreases in the alkli

mentals,but increas in halogens with

https://dl.doubtnut.com/l/_hQHbht0sXLFR
https://dl.doubtnut.com/l/_CFLR5XwW7o88


increas in atomic number down the

group

C. In both alkali metals and the halogens,

the chemical reactivity decreases with

increase in atomic number down the

group.

D. Chemical reactivity increasin atomic

number down the group the group in

both the alkali mentals and halogens.

Answer: A

https://dl.doubtnut.com/l/_CFLR5XwW7o88


Watch Video Solution

42. Which one of the following orders

presents the correct sequence of the

increasing basic nature of the given oxides ?

A. 

B. 

C. 

D. 

Answer: A

Al2O3 < MgO < Na2O < K2O

MgO < K2O < Al2O3 < Na2O

Na2O < K2O < MgO < Al2O3

K2O < Na2O < Al2O3 < MgO

https://dl.doubtnut.com/l/_CFLR5XwW7o88
https://dl.doubtnut.com/l/_s6EhUjF4l2bx


Section B Assertion Reasoning

Watch Video Solution

1. Assertion: Ionisation potential of  (atomic

no.4) is less than  (atomic no.5). 

Reason: The first electron released from  is

of p-orbital but that from  is of s-orbital.

A. If both assertion and reason are true

and reason is the correct explanation of

Be

B

Be

B

https://dl.doubtnut.com/l/_s6EhUjF4l2bx
https://dl.doubtnut.com/l/_qUkmUiGLdSPd


assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qUkmUiGLdSPd


2. Assertion: Helium has the highest value of

ionisation energy among all known elements. 

Reason: Helium has the highest value of

elelctron affinity among all known elements.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

https://dl.doubtnut.com/l/_ldVvCOjntRg5


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

3. Assertion: the decreasing order of acidic

character of  and  is 

. 


Reason: Acidic character of oxides increases

on moving top of bottom in a group and

CO2, N2O5, SiO2 SO3

SO3 > N2O5 > CO2 > SiO2

https://dl.doubtnut.com/l/_ldVvCOjntRg5
https://dl.doubtnut.com/l/_4ZEYn8V5WMZz


decreases on moving left to right in a periodic

in modern periodic table.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

https://dl.doubtnut.com/l/_4ZEYn8V5WMZz


Answer: C

Watch Video Solution

4. Assertion: NO is an acidic oxide while 

is a basic oxide. 

Reason: Oxides of metals are generally basic

and oxides of non-metals are generally acidic.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

CrO3

https://dl.doubtnut.com/l/_4ZEYn8V5WMZz
https://dl.doubtnut.com/l/_7AtxGaVJnDmg


B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7AtxGaVJnDmg


5. Assertion:  is more electronegative than 

. 


Reason:  has high electron affinity than .

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

F

Cl

F Cl

https://dl.doubtnut.com/l/_3Jifl9EDR0Cx


D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

6. Assertion:  for  is more

positive than  

Reason: The third ionisation energy of  is

larger than that of .

E ∘ Mn3+ /Mn2+

Cr3+ /Cr2+

Mn

Cr

https://dl.doubtnut.com/l/_3Jifl9EDR0Cx
https://dl.doubtnut.com/l/_Vq7Zn7KeXPcj


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Vq7Zn7KeXPcj


7. Assertion: The ionic size of  is bigger

than that of  ions. 


Reason:  and  are isoelectronic ions.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

O2−

F −

O2− F −

https://dl.doubtnut.com/l/_Vq7Zn7KeXPcj
https://dl.doubtnut.com/l/_6VWi4RkC3DFz


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

8. Assertion: The ionic radii follows the order:

. 


Reason: The smaller the value of  the

larger the size of the species.

I − < I < I +

Z/e

https://dl.doubtnut.com/l/_6VWi4RkC3DFz
https://dl.doubtnut.com/l/_78TFjCfTQDuD


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_78TFjCfTQDuD


9. Assertion: Sixth period is the longest period

in the periodic table. 

Reason : Sixth period involves the filling of all

the orbitals of the sixth energy level.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_78TFjCfTQDuD
https://dl.doubtnut.com/l/_jNRPNzJp3Lbw


assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

10. Assertion: Electron gain enthalpy always

becomes less negative as we go down a group

in Modern periodic table. 

Reason: The size of the atom increase on

https://dl.doubtnut.com/l/_jNRPNzJp3Lbw
https://dl.doubtnut.com/l/_UTTpOPge7Pvv


going down the group in Modern periodic

table and the added electron would be farther

from the nucleus.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

https://dl.doubtnut.com/l/_UTTpOPge7Pvv


D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

11. Assertion: Electron gain enthalpy value of

the 3rd peirod p-block elements of the

mordern periodic table are generally more

negative than the 2nd period element of the

same group. 

Reason: Due to smaller atomic size of the 2nd

https://dl.doubtnut.com/l/_UTTpOPge7Pvv
https://dl.doubtnut.com/l/_HwSowSqaXEfh


peirod element, its electron density is high

which eases the addition of electron.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

https://dl.doubtnut.com/l/_HwSowSqaXEfh


Answer: C

Watch Video Solution

12. Assertion: Of the elements , helium has the

highest value of first ionisation enthalpy. 

Reason : Helium has the most positive

electron gain enthalpy of all the elements.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

https://dl.doubtnut.com/l/_HwSowSqaXEfh
https://dl.doubtnut.com/l/_irUnRyz7WFho


B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_irUnRyz7WFho


13. Assertion: The first ionisation enthalpy of

aluminium is lower than that of magnesium. 

Reason : Ionic radius of aluminium is smaller

than that of magnesium.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

https://dl.doubtnut.com/l/_pMzh1Q8nulWp


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

14. Assertion: Helium and beryllium have

similar outer electronic configuration of the

type . 


Reason: Both are chemically inert.

ns2

https://dl.doubtnut.com/l/_pMzh1Q8nulWp
https://dl.doubtnut.com/l/_a9t5ed6ahzst


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_a9t5ed6ahzst


15. Assertion: the  and  inner

transition series of elements are placed

separately at the bottom of the modern

periodic table. 

Reason : (i) Position of f-block elements

prevents the undue expansion of the mordern

periodic table, ie, maintains its structure. 

(ii) Position of f-block elements preserves the

principle of classification by keeping elements

with similar properties in a single column.

4f − 5f −

https://dl.doubtnut.com/l/_a9t5ed6ahzst
https://dl.doubtnut.com/l/_xeXAKuK5HFQr


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xeXAKuK5HFQr


16. Assertion: The atomic radii of the elements

of the oxygen family are smaller than the

atomic radii of corresponding elements of the

nitrogen family. 

Reason: The members of the oxygen family are

more electronegative because they have lower

values of nuclear charge, than those of the

nitrogen family.

A. If both assertion and reason are true

and reason is the correct explanation of

https://dl.doubtnut.com/l/_xeXAKuK5HFQr
https://dl.doubtnut.com/l/_8JJ0P4NXlrsi


assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8JJ0P4NXlrsi


17. Assertion:  atom has less negative

electron gain enthaply than  atom. 


Reason: Additional eletrons are repelled more

effectively by 3 p-electronic in  than by  p-

electrons is  atom.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

F

Ci

Ci 2

F

https://dl.doubtnut.com/l/_hESeg4Y4b7n3


assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

18. Assertion: The first ionisation energy of 

is greater than that of . 

Reason: 2p-orbital is lower in energy than 2s-

orbital.

Be

B

https://dl.doubtnut.com/l/_hESeg4Y4b7n3
https://dl.doubtnut.com/l/_tz1YnvkYcwgy


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tz1YnvkYcwgy


19. Assertion: In general, for an element,

 


Reason: After the removal of each successive

electron remaining electrons are held more

tightly by the nucleus so removal of next

electron becomes difficult.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

IE1 < IE2 < IE3....

https://dl.doubtnut.com/l/_tz1YnvkYcwgy
https://dl.doubtnut.com/l/_R3MnXncsFZlm


B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_R3MnXncsFZlm


20. Assertion: Generally, ionisation enthalpy

than beryllium. 

Reason: When successive electrons are added

to the orbitals in the same principle quantum

level, the shiielding effect of inner core of

electrons does not increase very much to

compensate for the increased attraction of

the electron to the nucleus.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

https://dl.doubtnut.com/l/_fdPhlw2mCDnI


B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fdPhlw2mCDnI


21. Assertion: Boron has a smaller first

ionisation enthalpy than beryllium. 

Reason: The penetration of a  electron to

the nucleus is more than the  electron,

hence  electorn is more shielded by the

inner core of electrons than the 2s electrons.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

2s

2p

2p

https://dl.doubtnut.com/l/_ApXREwJFBFKC


B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ApXREwJFBFKC


22. Assertion: Metallic character of first group

metals of Modern periodic table increase on

moving down the group. 

Reason: On moving top to bottom in first

group in Modern periodic table, value of

ionisation enthalpy continuously decreases.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

https://dl.doubtnut.com/l/_XrwAcwr0NxHL


Aipmt Neet Questions

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XrwAcwr0NxHL
https://dl.doubtnut.com/l/_h9qHKIBbsYuD


1. Which of the following order is incorrect?

A. Acid nature , 

B.  , 

C. Basic nature ,

D. Ionic radius : 

Answer: B

Watch Video Solution

NH3 < PH3 > AsH3

IE1 Li < Be < B < C

Al2O3 < Mgo < Na2O < K2O

Li+ < Na+ < K < Cs+

https://dl.doubtnut.com/l/_h9qHKIBbsYuD


2. Among  and  the element

which can form more than one binary

compound with chlorine is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K, Ca, Fe Zn

Fe

Zn

K

Ca

https://dl.doubtnut.com/l/_ck3v0hXsguAd


3. Among the following series of transition

metals ions, the one where all metal ions have

 electronic configuration is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3d2

Ti3+ , V 2+ , Cr3+ ,Mn4+

Ti+ , V 4+ , Cr6+ ,Mn7+

Ti4+ , V 3+ , Cr2+ ,Mn3+

Ti2+ , V 3+ , Cr4+ ,Mn5+

https://dl.doubtnut.com/l/_IHJBzUoBuAa9


4. Lanthanoid are:

A.  elements in the sixth period (

 to ) that have4f-subshell

B.  elements in the seventh period

 to  that have 

subshell

C.  elements in the sixth period (

 to ) that have4f-subshell

14

at. no.90 103

14

(at. no.90 103) 5f −

14

at. no.58 71

https://dl.doubtnut.com/l/_8uWY4MdgZI0Y


D.  elements in the seventh period (

 to ) that have4f-subshell

Answer: C

Watch Video Solution

14

at. no.58 71

5. Identify the incorrect statement among the

following:

A. Lanthanoids contraction is the

accumulation of successive linkages.

https://dl.doubtnut.com/l/_8uWY4MdgZI0Y
https://dl.doubtnut.com/l/_DF6JiqWNtxLm


B. as a result of lanthanoids contraction

the properties of  series of the

transition elements have no similarities

with the  series of transition

elements.

C. shielding power of  electrons is quite

weak

D. there is a decreases in the radii of the

atoms or ions as one proceeds from 

to 

4d

5d

4f

La

Lu

https://dl.doubtnut.com/l/_DF6JiqWNtxLm


Answer: B

Watch Video Solution

6. Which of the following exhibits only +3

oxidation state?

A. 

B. 

C. 

D. 

U

Th

Pa

Ac

https://dl.doubtnut.com/l/_DF6JiqWNtxLm
https://dl.doubtnut.com/l/_6b7dYppZyGDi


Answer: D

Watch Video Solution

7. Which of the following lanthanoids ions is

diamagnetic?

A. 

B. 

C. 

D. 

Sm2+

Eu2+

Ce2+

Y b2+

https://dl.doubtnut.com/l/_6b7dYppZyGDi
https://dl.doubtnut.com/l/_NpiX2rokaQ3l


Answer: D

Watch Video Solution

8. Which of the following orders of ionic radii

is correctly represented?

A. 

B. 

C. 

D. 

H − > H + > H

Na+ > F − > O2−

F − > O2− > Na+

Al3+ > Mg2+ > N 3−

https://dl.doubtnut.com/l/_NpiX2rokaQ3l
https://dl.doubtnut.com/l/_EFODI8pBPZly


Answer: A

Watch Video Solution

9. The species  and  contain the

same number of electrons. In which order do

their radii increase ?

A. 

B. 

C. 

D. 

Ar,K + Ca2+

Ca2+ < K + < Ar

K +Ar < Ca2+

Ar < K + < Ca2+

Ca2+ < Ar < K +

https://dl.doubtnut.com/l/_EFODI8pBPZly
https://dl.doubtnut.com/l/_bar0xJLutfSW


Answer: A

Watch Video Solution

10. The formation of the oixde ion, 

from oxygen atom requires first an exothermic

and then an endothermic step as shown

below: 

 


Thus the process of formation of  in gas

phase is neon. It is due to the fact that

O2+ (g)

O(g) + e− → O− (g), ΔHO = − 141kJmol−

O(g) + e− → O− (g),HO = − kJmol−

O2−

https://dl.doubtnut.com/l/_bar0xJLutfSW
https://dl.doubtnut.com/l/_aUnSMsJYXZUn


A. Oxygen is more electronegative

B. addition of electrons in oxygen result in

larger size of the ion

C. Electron repulsion outweighs the

stability gained by achieving noble gas

configuration

D.  ion has comparatively smaller size

than oxygen atom

Answer: C

Watch Video Solution

O−

https://dl.doubtnut.com/l/_aUnSMsJYXZUn


11. In which of the following options the order

arrangement does not agree with the

variation of property indicated against it?

A.  (increasing

melallic radius)

B. 

(increasing ionic size)

C.  (increasing first

ionization enthalpy)

Li < Na < K < Rb

Al3+ < Mg2+ < Na+ < F −

B < C < N < O

https://dl.doubtnut.com/l/_aUnSMsJYXZUn
https://dl.doubtnut.com/l/_VY1fH81v0SGG


D. (increasing electron

gain enthalpy)

Answer: C::D

Watch Video Solution

I < Br < Cl < F

12. The element  has been discovered

recently. It will belong to which of the family

group and electronic configuration ?

A. Carbon family, 

Z = 114

/

[Rn]5f 146d107s27p2

https://dl.doubtnut.com/l/_VY1fH81v0SGG
https://dl.doubtnut.com/l/_S5wyqZgAGgZN


B. Oxygen family, 

C. Nitrogen family, 

D. Halogen family, 

Answer: A

Watch Video Solution

[Rn]5f 146d107s27p4

[Rn]5f 146d107s27p6

[Rn]5f 146d107s27p5

13. Which of the following oxide is most acidic

in nature?

A. MgO

https://dl.doubtnut.com/l/_S5wyqZgAGgZN
https://dl.doubtnut.com/l/_Xs2gN4kjaWdw


Aiims Questions

B. 

C. 

D. 

Answer: B

Watch Video Solution

BeO

BaO

CaO

1. Which of the following is the atomic number

of a metal?

https://dl.doubtnut.com/l/_Xs2gN4kjaWdw
https://dl.doubtnut.com/l/_YfK5h9Eh4Cch


A. 32

B. 34

C. 36

D. 38

Answer: D

Watch Video Solution

2. Which of the following statement is not

correct regarding hydrogen atom?

https://dl.doubtnut.com/l/_YfK5h9Eh4Cch
https://dl.doubtnut.com/l/_8AjPXu0e8oqi


A. It resembles halogens in some

properties

B. it resembles alkali mentals in some

properties

C. it can be placed in 7th group of periodic

table

D. it cannot be placed in first group of

periodic table

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8AjPXu0e8oqi


3. The lightest metal is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Li

Mg

Ca

Na

https://dl.doubtnut.com/l/_8AjPXu0e8oqi
https://dl.doubtnut.com/l/_IZO60Z94K0KX
https://dl.doubtnut.com/l/_vG2zBKpFbEYP


4. The radii of  and  are in the

order of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F , F − , O O−2

O2− > F − > O > F

O2− > F − > F > O

F − > O2− > F > O

O2− > O > F − > F

https://dl.doubtnut.com/l/_vG2zBKpFbEYP


5. Which has the maximum atomic radius?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al

Si

P

Mg

https://dl.doubtnut.com/l/_5U7JjECqtzRc


6. Which of the following ion is the smallest

ion is the smallest ion?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O+
2

O−
2

O2

O−2
2

https://dl.doubtnut.com/l/_BLa81iZfrKxx
https://dl.doubtnut.com/l/_FgY4iE249Ncg


7. Which of the following has largest radius?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cs+

Li+

Na+

K +

https://dl.doubtnut.com/l/_FgY4iE249Ncg


8. Which of the following gaseous atoms has

highest value of ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

IE

P

Si

Mg

Al

https://dl.doubtnut.com/l/_amjaEz3MvwxH
https://dl.doubtnut.com/l/_KHAy8jWr5Rjz


9. Ionistion energy is highest for

A. noble gases

B. platinum metals

C. transition elements

D. inner-transition elements

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KHAy8jWr5Rjz


10. Among the following options , the

sequence of increasing first ionisation

potential will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B < C < N

B > C > N

C < B < N

N > C > B

https://dl.doubtnut.com/l/_ZvoCtL7cKx4s


11. Which of the following transitions involves

maximum amount of energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M − (g) → M(g)

M(g) → M + (g)

M + (g) → M 2+ (g)

M 2+ (g) → M 3+ (g)

https://dl.doubtnut.com/l/_Eapxnrz7tbqR
https://dl.doubtnut.com/l/_4GUhqFYSbF4E


12. Which has the highest second ionisation

potenitial?

A. Nitrogen

B. carbon

C. Oxygen

D. Fluorine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4GUhqFYSbF4E


13.  and  are similar in their properties

due to

A. Same  ratio

B. same electron affinity

C. Same group

D. Same ionic potential

Answer: D

Watch Video Solution

Mg Li

e/m

https://dl.doubtnut.com/l/_NbMLMlu3l0pS
https://dl.doubtnut.com/l/_gspWBBqSZGnI


14. For electron affinity of halongens which of

the following is correct

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br > F

F > Cl

Br < Cl

F < I

https://dl.doubtnut.com/l/_gspWBBqSZGnI


15. Which one of the elements has the

maximum electron affinity?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F

Cl

Br

I

https://dl.doubtnut.com/l/_sADcTrPsvkVi
https://dl.doubtnut.com/l/_FSxH3CB0kxwt


16. Order of electron affinity of  and 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F , Cl, Br

I

F < Cl > Br > I

F > Cl > Br > I

F < Cl < Br < I

F > Cl > Br > I

https://dl.doubtnut.com/l/_FSxH3CB0kxwt


17. Which one of the following represents the

electronic configuration of the most

electropositive element?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[He]2s1

[Xe]6s1

[He]2s2

[Xe]6s2

https://dl.doubtnut.com/l/_GN01YPaAIGXa


18. Which of the following is the most

electropositivite element?

A. aluminium

B. Magnesium

C. phosphorus

D. sulphur

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kLSxgwdSXrZi
https://dl.doubtnut.com/l/_8K1wG5fpw9iX


19. Which of the following has no unit?

A. Electronegativity

B. Electron affinity

C. Ionisation energy

D. Excitation potential

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8K1wG5fpw9iX


20. Which of the following set has the

strongest tendency to form anions?

A.  and 

B.  and 

C.  and 

D. , and 

Answer: C

Watch Video Solution

Ga, In Te

Na,Mg Al

N, O F

V , Cr Mn

https://dl.doubtnut.com/l/_V7oUwwjg6Goo
https://dl.doubtnut.com/l/_2MKYLqLTjsT2


21. The pair of amphoteric hydroxides is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AI(OH)3, LiOH

Be(OH)2,Mg(OH)2

B(OH)2, Be(OH)2

Be(OH)2, Zn(OH)2

https://dl.doubtnut.com/l/_2MKYLqLTjsT2


22. A sudden jum- between the values of

second and third ionisation energies of an

atom would be associated with the electronic

configuration.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s2, 2s2p6, 3s1

1s2, 2s2p6, 3s2p1

1s2, 2s2p6, 3s2p2

1s2, 2s2p6, 3s2

https://dl.doubtnut.com/l/_5cqkrpmU7AGf


Watch Video Solution

23. If the degree of ionization of water is

 at . Its ionization constant

will be

A. 

B. 

C. 

D. 

Answer: A

1.8 × 10−9 298K

1.8 × 10−16

1 × 10−14

1 × 10−16

1.67 × 10−14

https://dl.doubtnut.com/l/_5cqkrpmU7AGf
https://dl.doubtnut.com/l/_yzGRh7V2Ah06


Watch Video Solution

24. Ionisation potential of hydrogen atom is

. Hydrogen atom in ground state is

excited by monochromatic light of energy

. The spectral lines emitted by

hydrogen according to Bohr's theory will be

A. One

B. two

C. three

D. four

13.6eV

12.1eV

https://dl.doubtnut.com/l/_yzGRh7V2Ah06
https://dl.doubtnut.com/l/_ehQMeFlVyKHS


Assertion Reasoning Questions

Answer: C

Watch Video Solution

1. Assertion: The atomic radii of calcium is

smaller than sodium 

Reason: Calcuim has a lower nuclear charge

than sodium.

https://dl.doubtnut.com/l/_ehQMeFlVyKHS
https://dl.doubtnut.com/l/_GYjJ5X9vvzjB


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GYjJ5X9vvzjB


2. Assertion: The first ionisation energy of

aluminium is lower than that of magnesium. 

Reason: The ionic radius of aluminium is

smaller than that of magnesium.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_GYjJ5X9vvzjB
https://dl.doubtnut.com/l/_F52k0DRXdRdX


assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

3. Assertion: Electrons are ejected from a

certain metal when either blue or violet light

strikes the metal surface. However only violet

light cause electron ejection from a second

https://dl.doubtnut.com/l/_F52k0DRXdRdX
https://dl.doubtnut.com/l/_roZBE0hYNEJM


metal. 

Reason: The electrons in the first metal

requires less energy for ejection.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

https://dl.doubtnut.com/l/_roZBE0hYNEJM


D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

4. Assertion :First ionization energy is lower

than oxygen. 

Reason :Across a period effective charge

decreases.

https://dl.doubtnut.com/l/_roZBE0hYNEJM
https://dl.doubtnut.com/l/_lIy2W71xIx0y


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lIy2W71xIx0y


Section D Chapter End Test

1. Which of the following statement is correct

with respect to the property of elements with

an increase in atomic number in the carbon

family (group 14)?

A. Atomic size decrease

B. Ionisation energy increase

C. Metallic character decreases

https://dl.doubtnut.com/l/_lIy2W71xIx0y
https://dl.doubtnut.com/l/_tmd0r3ua0Okj


D. Stability of +2 oxidation state increase.

Answer: D

Watch Video Solution

2. The pair of amphoteric hydroxides is

A. 

B. 

C. 

D. 

Al(OH)3, LiOH

Be(OH)2,Mg(OH)2

B(OH)3, Be(OH)2

Be(OH)2, Zn(OH)2

https://dl.doubtnut.com/l/_tmd0r3ua0Okj
https://dl.doubtnut.com/l/_BUcT56u0IAVK


Answer: D

Watch Video Solution

3. Which of the following oxides is amphoteric

is nature ?

A. 

B. 

C. 

D. 

CaO

CO2

Sio2

SnO2

https://dl.doubtnut.com/l/_BUcT56u0IAVK
https://dl.doubtnut.com/l/_tL64TcFD1wwr


Answer: D

Watch Video Solution

4. Which has the highest melting point?

A. 

B. 

C. 

D. 

Answer: B

LiCl

BeCl2

BCl3

CCl4

https://dl.doubtnut.com/l/_tL64TcFD1wwr
https://dl.doubtnut.com/l/_sFta60EcDjEb


Watch Video Solution

5. In which of the following arrangements , the

order is not correct according to the property

indicated against it:

A. : Increasing

ionic size

B. : Increasing enthalpy

C.  : Increasing electron

gain enthalpy (with negative sign)

Al3+Mg2+ < Na+ < F −

B < C < N < O

I < Br < F < Cl

https://dl.doubtnut.com/l/_sFta60EcDjEb
https://dl.doubtnut.com/l/_VJAai6l0bqju


D.  : Increasing

metallic radius

Answer: B

Watch Video Solution

Li < Na < K < Cl

6. Which one of the following arrangements

represents the correct order of electron gain

enthalpy of the given atomic species?

A. Cl < F < S < O

https://dl.doubtnut.com/l/_VJAai6l0bqju
https://dl.doubtnut.com/l/_fJ5AEazOuJqf


B. 

C. 

D. 

Answer: B

Watch Video Solution

O < S < F < Cl

S < O < Cl < F

F < Cl < O < S

7. What will be the order of first ionisation

energy?

A. Li > Na > k

https://dl.doubtnut.com/l/_fJ5AEazOuJqf
https://dl.doubtnut.com/l/_ryjsI9olSsQi


B. 

C. 

D. 

Answer: A

Watch Video Solution

K > Li > Na

Na > Li > K

Li > K > Na

8. which of the following configurations

represents atoms of the elements having the

higest second ionisation energy?

https://dl.doubtnut.com/l/_ryjsI9olSsQi
https://dl.doubtnut.com/l/_D40icDX9sIJl


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s22s22p4

1s22s22p6

1s22s22p63s1

1s22s22p63s2

9. The first ionisation potential in electron

volts of nitrogen and oxygen atoms are

respectively given by

https://dl.doubtnut.com/l/_D40icDX9sIJl
https://dl.doubtnut.com/l/_YqgccWiIaSTm


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

14.6, 13.6

13.6, 14.6

13.6, 13.6

14.6, 14.6

10. The elements which occupy the peaks of

ionisation energy curve are

https://dl.doubtnut.com/l/_YqgccWiIaSTm
https://dl.doubtnut.com/l/_kYFsBYELC47U


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na,K, Rb, Cs

Na,Mg, Cl, I

Cl, Br, I, F

He, Ne, Ar,Kr

11. Which is the correct order of ionic sizes (At,

No :  and 

)?

Ce = 58, Sn = 50, Y b = 70

Lu = 71

https://dl.doubtnut.com/l/_kYFsBYELC47U
https://dl.doubtnut.com/l/_vUw2RIuqK105


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Ce > Sn > Y b > Lu

Sn > Ce > Lu > Y b

Lu > Y b > Sn > Ce

Sn > Y b > Ce > Lu

12. A sudden large jump between the values of

second and third ionisation energies of an

https://dl.doubtnut.com/l/_vUw2RIuqK105
https://dl.doubtnut.com/l/_iYsutwyHFXTs


element would be associated with the

electronic configuration

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s2, 2s2p6, 3s1

1s2, 2s2p6, 3s2p1

1s2, 2s2p6, 3s2p2

1s2, 2s2p6, 3s2

https://dl.doubtnut.com/l/_iYsutwyHFXTs


13. Which element having the following

electronic configuration has minimum

ionisation potential?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s1

1s2, 2s22p6

1s2, 2s22p6, 3s1

1s2, 2s22p2

https://dl.doubtnut.com/l/_OqYraUtlvc4F


14. Arrange  in the decreasing

order of electronegativy

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F , Cl, O, N

O > F > N > Cl

F > N > CI > O

Cl > F > N > O

F > O > N > Cl

https://dl.doubtnut.com/l/_JtV23pQR5sXA
https://dl.doubtnut.com/l/_J8tXLvQNrHxf


15. Two elements whose electronegativities are

 and  the bond formed between them

would be

A. Ionic

B. covalent

C. Coordinate

D. Metallic

Answer: A

Watch Video Solution

1.2 3.0

https://dl.doubtnut.com/l/_J8tXLvQNrHxf
https://dl.doubtnut.com/l/_tx3pwVkPwS0S


16. Among  and  the

correct order of acid strength is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al2O, SiO2, P2O3 So2

Al2O3 < SiO2 < SO2 < P2O3

SiO2 < SO2 < Al2O3 < P2O3

SO2 < P2O3 < SiO2 < Al2O3

Al2O3 < SiO2 < P2O3 < SO2

https://dl.doubtnut.com/l/_tx3pwVkPwS0S


17. The order in which the following oxides are

arranged according to decreasing basic nature

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2O,MgO, Al2O3, CuO

MgO, Al2O3, CuO, Na2O

Al2O3,MgO, CuO, Na2O

CuO, Na2O,MgO, Al2O3

https://dl.doubtnut.com/l/_CeJiDoJ5vieq


18.  and  exhibit many properties which

are similar. But the two elements differ in

A. Forming covalent halides

B. Forming polymeric hydrides

C. Exhibiting maximum covalency in

compounds

D. Exhibiting amphoteric nature in their

oxides

Answer: C

Be Al

https://dl.doubtnut.com/l/_08m2paw5RkJJ


Watch Video Solution

19. The order of magnitude of ionic radii of

ions  and  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na+ ,Mh2+ , Al3+ Si4+

Na+ < Mg2+ < Al3+ < Si4+

Mg2+ > Na+ > Al3+ > Si4+

Al3+ > Na+ > Si4+ > Mg2+

Na+ > Mg2+ > Al3+ > Si4+

https://dl.doubtnut.com/l/_08m2paw5RkJJ
https://dl.doubtnut.com/l/_5JNg8TJatF3S


20. The order of the magnitude of first

ionisation potentials of  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Be, B, N O

N > O > Be > B

N > Be > O > B

Be > B > N > O

B > Be > O > N

https://dl.doubtnut.com/l/_5JNg8TJatF3S
https://dl.doubtnut.com/l/_Ue3iPxIWc3m8


21. Which of the following transitions involves

maximum amount of energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

M − (g) → M(g)

M(g) → M + (g)

M + (g) → M 2+ (g)

M 2+ (g) → M 3+ (g)

https://dl.doubtnut.com/l/_Ue3iPxIWc3m8
https://dl.doubtnut.com/l/_rgSwndBal4zv
https://dl.doubtnut.com/l/_ayxPwS4qztG4


22.  and  are similar in their properties

due to

A. Same  ratio

B. same electron affinity

C. Same group

D. Same ionic potential

Answer: D

Watch Video Solution

Mg Li

e/m

https://dl.doubtnut.com/l/_ayxPwS4qztG4
https://dl.doubtnut.com/l/_uYRqMGH7fZfK


23. Which among the following elements have

the lowest value of ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IE1

Pb

Sn

Si

C

https://dl.doubtnut.com/l/_uYRqMGH7fZfK


24. The first ionisatin potential is maximum for

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

B

N

O

Be

https://dl.doubtnut.com/l/_oiev0xL0lmOj


25. Which of the following has the highest

ionic radius?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2−

B3+

Li+

F −

https://dl.doubtnut.com/l/_kpf6SiPXSGtt
https://dl.doubtnut.com/l/_mngUll5AFduG


26. Ionic radii are

A. Directly proportional to effective nuclear

charge

B. Directly proportional to square of

effective nuclear charge

C. Inversely proportional to effective

nuclear charge

D. Inversely proportional to square of

effective nuclear charge.

https://dl.doubtnut.com/l/_mngUll5AFduG


Answer: C

Watch Video Solution

27. The most common oxidation states of

cerium are

A. 

B. 

C. 

D. 

+2, + 3

+2, + 4

+3, + 4

+3, + 5

https://dl.doubtnut.com/l/_mngUll5AFduG
https://dl.doubtnut.com/l/_c3CXGaXrMOTO


Answer: C

Watch Video Solution

28. Assertion: The first ionisation energy of 

is greater than that of . 

Reason: 2p-orbital is lower in energy than 2s-

orbital.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

Be

B

https://dl.doubtnut.com/l/_c3CXGaXrMOTO
https://dl.doubtnut.com/l/_NxaVHfAMa0B8


B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NxaVHfAMa0B8


29. Assertion: Shielding effect increases as we

go down the group. 

Reason: More is the number of electrons in

the penultimate shell, more is shielding.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

https://dl.doubtnut.com/l/_ge1S39uixw9t


C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

Watch Video Solution

30. Assertion: Ionisation potential across the

period is . 


Reason : Ionisation potential decreases with

decrease in atomic size.

Na < Al < Mg < Si

https://dl.doubtnut.com/l/_ge1S39uixw9t
https://dl.doubtnut.com/l/_4QhSAFDS250r


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If the assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4QhSAFDS250r


https://dl.doubtnut.com/l/_4QhSAFDS250r

